REPLACGEMENT PARTS MANUAL

Reachforks®

Double Range - 17B TRT

For Crown TSP,
Very Narrow Aisle Trucks

Manual Number 6945970-R1



BLANK



Stamped nameplate

information and serial —|

number

N

Replacement Parts

OROO @ ®

/

REF|QTY| PART NO. DESCRIPTION
1 1 6927872 Cylinder Head Spanner, 25 mm @
2 4 6927870 Piston with seal, 25 mm dia.
3 4 6927865 Piston with seal, 25 mm dia.
4 4 6927866 Wear Strip, 80 x 25 x 4.5 mm
5 4 | Piston Rod, 16 mm dia.
6 4 6927874 Cylinder Head with seal, 25 mm dia.
7 2 ] Sleeve
8 4 6927875 Bushing
9 4 6927876 Wiper Ring
10 | 4 6927877 O-Ring
11 1 6946140 Switch Housing Assembly, LH A
12 1 6946141 Switch Housing Assembly, RH A
13| 4 768695 Capscrew, M10 x 12
14 1 | Inner Fork, LH
15 1 | Inner Fork, RH
1 6927878 Flow Divider (Metric), not shown
1 6927879 Flow Divider (JIC), not shown

® Not included with Reachforkse.
B Part number is model dependent. Provide serial number when ordering.
A See Switch Assembly for parts breakdown




Replacement Parts
Spring Assembly Parts

REF |QTY| PART NO. DESCRIPTION

6946126 Plunger

6946128 | Spring

6946127 Pin, 3.5 x 22 mm

Switch Assembly Parts

REF |QTY| PART NO. DESCRIPTION

6946140 Housing Assembly, LH

6946141 Housing Assembly, RH

6946129 Housing Body, LH

6946130 Housing Body, RH

768695 Capscrew, M10 x 12

6946135 Cover

768684 Capscrew, M6 x 10

201726 Capscrew, M5 x 6

6946106 Lock Washer, M5

~N|o|lo|a|w|n
[T I NG (e NG NG (PR [ [P (S

6946137 Activator Plate

2




3014d

NOILdIHOS3d

‘ON 14dvd
H3INOLSNO

‘ON 14dvd
3dvOSvO

ALD

‘ON
434

Jovd

H3dINNN
vIig3as

43040
3ISVYHOHNd

d1vd

9071 ONIH3AHO S14dvd




Do you have questions you need answered right now?
Call your nearest Cascade-KOOQI Parts Department.
Visit us online at www.cascorp.com

AMERICAS

Cascade-KOOI Cascade-KOOI Canada Inc.
U.S. Headquarters 5570 Timberlea Blvd.

2201 NE 201st Mississauga, Ontario
Fairview, OR 97024-9718 Canada L4W-4M6

Tel: 800-CASCADE (227-2233) Tel: 905-629-7777

Fax: 888-329-8207 Fax: 905-629-7785

KOOI

™

© Cascade-KOOI 2024 08-2024 Part Number 6XXXXXX



